
Tools Required
13mm Socket
Ratchet
Torque Wrench

Before Installation:

Read this instruction carefully before starting installation.
Proper tools will improve the quality of installation and reduce the time
required.

Insert M8 clip nut onto the large hole and over the smaller hole next to it,
with threads inside of the inner rocker panel.

Step 2:If missing parts or any damage found, please take a picture and contact us.
Professional installation would be highly recommended.

1.Attach bracket to the rocker panel and secure with (2) M8 hex bolts,
(2) M8 flat washers,(2) M8 lock washers.
2. Repeat to install all brackets. Do not fully tighten.

Periodic check to ensure all mounting hardware remains secure and tight.
For diesel engine trucks, temporary lower or remove the DEF may necessary.

Driver Left Side

(2) M8 clip nut
(2) M8 flat washer
(2) M8 lock washer
(2) M8 hex bolt

Passenger Right Side

Step 1:
Driver Left Side Front1. Locate(4) mounting positions each side.

2. Remove rubber plugs on inner rocker panel.
3.Insert clip nuts onto existing holes in the inner rocker panel, refer to
following diagrams.

—1— —2—

https://manuals.plus/m/86d69685f7cd2032d0901a662e80b3ba3662bf75601b8e96c40db295ea3dc9e9



